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Next Generation Learning Standards
 This Test Review Booklet was designed for the Grade 7 Mathematics  
Assessment Test – Next Generation Mathematics Learning Standards. It provides 
examples of the format and types of questions that may be on the actual test as 
administered by the State Education Department. The actual test is administered 
over two days. We have separated our review tests into two parts so you may 
simulate a multi-day test :

Part 1: 32 multiple choice questions

Part 2:  6 multiple choice questions
 3 one point constructed response questions
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 1 three point constructed response question
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For a complete description of restrictions involving calculator usage, see the NY State 
Education website:  www.nysed.gov
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Question Distribution

The questions in the practice exams have the same approximate distribution as that 
described by the NYSED Elementary, Middle, Secondary, and Continuing Education 
guidelines. They are:

            Ratios and Proportional Relationships   24-33%

             The Number System                               16-25%

             Expressions and Equations                     26-39%

             Geometry                              2-7%

             Probability and Statistics                12-21%
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Grade 7 Mathematics Reference Sheet 

CONVERSIONS 

1 yard = 3 feet 
1 mile = 5,280 feet 

1 cup = 8 fuid ounces 
1 pint = 2 cups 
1 quart = 2 pints 
1 gallon = 4 quarts 

1 pound = 16 ounces 
1 ton = 2,000 pounds 

CONVERSIONS ACROSS MEASUREMENT SYSTEMS 

1 inch = 2.54 centimeters 
1 meter = 39.37 inches 
1 mile = 1.609 kilometers 
1 kilometer = 0.6214 mile 

1 gallon = 3.785 liters 
1 liter = 0.2642 gallon 

1 pound = 0.454 kilogram 
1 kilogram = 2.2 pounds 

FORMULAS AND FIGURES 

Triangle 

h A = 
2
1 bh 

b 

Parallelogram 

h A = bh 

b 

Trapezoid b1 

h A  = 1 h(b + b )
2 1 2 

b2 

Circle 

r C = 2πr 
C = πd 

2A = πr 

Simple Interest 
I = prt where I is interest,

 p is principal,
 r is rate, and
 t is time 

General Prism V = Bh 

Right Rectangular Prism 

Right Triangular Prism 

Right Rectangular Pyramid 

h 
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1 Write "$33,000 earned in 1 year" as a 
 unit rate in months.

 A $2,570/month 
 B $1,300/month 
 C $5,500/month 
 D $2,750/month 1 ______
 

2 What is "78 radishes planted in a 13−foot 
 long row" written as a unit rate per inch? 

 A 72 radishes/inch 
 B 0.5 radish/inch 
 C 6 radishes/inch 
 D 2 radishes/inch 2 ______
 

3 The number of pieces of mail processed 
 by a machine in the post office is directly 
 proportional to the number of minutes that 
 the machine runs. The machine processes 
 2,700 pieces of mail in 60 minutes of
 continuous running. What is the speed of 
 this machine expressed as a unit rate?

 A 45 pieces/minute   

 B 45 pieces 

 C 45 pieces/hour 

 D 45 pieces/second 3 ______

4 Which one of the following ratios has the 
 same unit rate as the line graphed below?

 A 55
15  

 B 40
4  

 C 8
85  

 D 7
70  

   4 ______
 

 

5 Amity and Beth are traveling in a taxi. The 
 graph below shows a proportional relationship 
 between the time they rode in the taxi and the 
 cost of the taxi ride. Which expression can be  
 used to find the unit rate in dollars?

 A 3 + 4.5     
 
 B 

9
6     

 
 C 6

9    
 
 D 0

0  

   5 ______
 

7) Which one of the following ratios has the same unit rate as the line graphed below?

A) B) C) D) 

8) Amity and Beth are traveling in a taxi. The graph below shows a proportional relationship between the
time they rode in the taxi and the cost of the taxi ride.

Which expression can be used to find the unit rate in dollars?
A) 3 + 4.5 B) C) D) 

9) A state income tax is 9% of any amount earned over $15,000. What state income tax does a person
earning $24,500 pay?
A) $1,350 B) $855 C) $2,205 D) $650

10) A person gets a $2,000 home improvement loan from a bank for six months at an annual interest rate
of 12%. What is the simple interest due on the loan?
A) $140 B) $210 C) $120 D) $240

11) Approximately how long will it take $200 to double to $400 when the annual interest rate is %?
A) 6.25 years B) 11.75 years C) 1.75 years D) 8.5 years
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   TEST 1 Part 1
Part 1 contains 32 multiple choice questions Read each question carefully and think about the 
answer before making your choice. Clearly write the appropriate letter in the space provided.  
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6 Approximately how long will it take $200 
 to double to $400 when the annual interest 
 rate is 8 12 %?

 A 6.25 years 

 B 11.75 years 

 C 1.75 years 

 D 8.5 years 6 ______
 

7 Mark bought an MP3 player for $275. If the 
 sales tax is 8.25%, what was the total cost 
 of the MP3 player?

 A $283.25 
 B $266.75      
 C $297.69      
 D $252.31 7 ______
 

8 If the check at a restaurant totals $115.99 
 and the customer leaves a 15% tip, what 
 is the total cost of the meal?

 A $133.39    
 B $123.39    
 C $17.40     
 D $143.39 8 ______
 

9   Add:    −42.67 + (+19.4) + (−1.2)

 A 24.87 
 B   24.47 
 C   −22.07 
 D   −24.47 9 ______
 

10 Add:  +3 14  + (–2 12 )

 A  –1 14  

 B  5 34

 C  3
4

 D  – 34  10 _____
 

11 What number makes the subtraction sentence   
  – −8.73 = 22.09 true?

 A 13.36 
 B  30.82 
 C −30.82 
 D −13.36 11  _____
 

12 Which decimal is equal to 18 ?

 A  3.6    
 B 0.125    
 C 8.0    
 D 0.36 12  _____
 

 

13 Which decimal is equal to 625 ?

 A 8.5 

 B 0.24 

 C 0.85 

 D 4.167 13 _____
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14 Three girls want to share 5 14 pounds of taffy 
 equally. How much taffy should each girl get?

 A 1 13 pounds 

 B 2 13 pounds 

 C 1 58 pounds 

 D  1 34 pounds 14 _____
 

15 A car used 12 3
10  gallons of gasoline on a 

 369−mile trip. How many miles did this 
 car travel on one gallon of gasoline?

 A 24

 B 26

 C 28   

 D 30 15 _____
  

16 How many lengths of 1 78  inches can
 be cut from a wooden dowel measuring 
 7 12  inches?

 A 5    

 B 6 

 C 4   

 D 3                                                  16 _____

17 During the month of August, Nick worked 
 2

3  as many hours as he did during the 
 month of July. If he worked 24 hours in 
 August, how many hours did he work in July?

 A 32 

 B 16 

 C 38 

 D 36                                               17 _____

18  Simplify the given expression:    
 −13m + m =

 A −14m       

 B −12m

 C 14m     

 D −12                                             18 _____

19 Simplify the given expression: 
 5x – 3x + 5 =

 A 2x + 5    

 B −2x + 5

 C 2x2 + 5

 D 7x 19 _____
 

20 Simplify the given expression:
 −9x2 – 3x2 – 4x2 =

 A −2x2

 B 16x2

 C −16x2

 D −16x6                                        20 ______
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33 The math test scores for Class A and Class B 
 are represented in the box plots shown below.
 

 Which statement about the relationship 
 between the scores of the two classes is true?  

 A The median score for Class A is greater 
  than the median score for Class B.

 B The range of the scores for Class A is 
  less than the range of the scores for 
  Class B.

 C The interquartile range for Class B is 
  greater than the interquartile range for
  Class A.

 D The second quartile value for Class B 
  is less than the second quartile 
  value for Class A. 33 _____

34 A student has a bus pass with a balance of 
 $30.00. Each time the student rides the bus, 
 the balance on the bus pass decreases by 
 $2.25. What is the greatest number of bus 
 rides the student can take using the bus pass?

 A 10                 C     14

 B 13  D     15 34 _____

35 Maggie owns a dog grooming business. The 
 prices for two services are listed below.

  • $31.50 for a dog wash
  • $17.00 for a nail trim

 A customer receives an 18% discount when 
 paying for both a dog wash and a nail trim.
 What is the total price the customer will pay 
 for a dog wash and a nail trim with the
 discount?

 A $18.00 C     $42.83

 B $39.77 D     $48.50   35 _____

36 At a deli, customers buying a sandwich can 
 choose one type of bread, one type of meat,
 and one type of cheese. The options for each 
 sandwich are listed below.

  •bread: white or wheat
  •meat: turkey or beef
  •cheese: American, Swiss, or cheddar

 Assuming each choice is equally likely, what 
 is the probability a customer will choose a
 sandwich with white bread, turkey, and Swiss 
 cheese?

 A   1                   C     1     12                           4
  

 B  1              D      1 
   7                              3 36 _____

PART 2
 Part 2 contains 6 multiple choice questions, and 9 constructed response questions. Read each 
 question carefully and think about the answer before making your choice. 
	 •	 Clearly	write	the	appropriate	letter	in	the	space	provided	for	the	6	multiple	choice	questions.		
	 •	 Write	your	answer	in	space	provided	for	the	3	one	point	constructed	response	questions.
	 •	 Show	your	work	and	write	your	answer	in	space	provided	for	the	6	two	point	and	1	three	point	
  constructed response questions.
	 •	 You	have	been	provided	with	mathematics	tools	(a	ruler,	a	protractor,	and	a	calculator)	and a 
  reference sheet to use during the test. It is up to you to decide when each tool and the reference 
	 	 sheet	will	be	helpful.	You	should	use	mathematics	tools	and	the	reference	sheet	whenever	you	
  think they will help you to answer the question. 

The math test scores for Class A and Class B are represented in the box plots shown below.

Which statement about the relationship between the scores of the two classes is true?

A The median score for Class A is greater than the median score for Class B.

B The range of the scores for Class A is less than the range of the scores for Class B.

C
The interquartile range for Class B is greater than the interquartile range for

Class A.

D
The second quartile value for Class B is less than the second quartile value for

Class A.

16

Page 9Session 1 

GO ON 
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40 This question is worth 1 credit. 

 Kasey and Andrew each went for a walk, once a day, for 4 days.

   • Kasey walked 34  mile each day.
 
   • Andrew walked 35  mile each day.

 At the end of days, how much farther, in miles, had Kasey walked than Andrew? 

 Show your work.

 ___________________________________________________________________
 ___________________________________________________________________

41 This question is worth 1 credit. 

 Find the average of the numbers in the stem and leaf plot to the nearest whole number. 
 Show your work.

 Answer  _______

60) Find the average of the numbers in the stem­and­leaf plot to the nearest whole number.

Show your work.

Answer: __________

61) A spinner is divided into 3 equal sections labeled A, B, and C.

Predict how many times out of 180 spins that the spinner will most likely stop on a vowel.
Show your work.

Answer: __________ times

Question 62 refers to the following:

The spinner below is divided into 8 equal sections.

c7afb696 ­ Page 9
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42 This question is worth 2 credits. 

 As captain of his football team, Jamal gets to call heads or tails for the toss of a fair coin at the beginning of 
 each game. At the last three games, the coin has landed with heads up. What is the probability that the coin 
 will land with heads up at the next game? Explain your answer. 
 Show your work and explain your answer on the lines below.

 Answer  _______ 

 ___________________________________________________________________
 ___________________________________________________________________

43 This question is worth 2 credits. 

 A student programs a robot to travel at a constant speed across the 
 classroom floor. The table represents the relationship between the 
 distance, in feet, the robot travels over a period of time, in seconds.

 Write an equation to represent the distance, d, in feet, the robot travels 
 in t seconds. Using the equation, how many seconds will it take for the 
 robot to travel 11 feet? 
 Show your work.

 Answer  _______ seconds

This question is worth 2 credits.

A student programs a robot to travel at a constant speed across the classroom oor. The

table below represents the relationship between the distance, in feet, the robot travels

over a period of time, in seconds.

Write an equation to represent the distance, d, in feet, the robot travels in t seconds. Using

the equation, how many seconds will it take for the robot to travel 11 feet?

Show your work.

Answer seconds

42

Page 8
GO ON 

Session 2
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48 This question is worth 3 credits. 

 Part A
 Write the sample space for the outcomes of the toss of two six-sided die.

 Part B
 If order is important, how many outcomes are possible?

 Answer _________outcomes

 Part C
 If order is not important, how many outcomes are possible?

 Answer _________outcomes

64) Part A
Write the sample space for the outcomes of the toss of two six­sided die.

Part B
If order is important, how many outcomes are possible?
Answer: __________

Part C
If order is not important, how many outcomes are possible?
Answer: __________

Question 65 refers to the following:

Stefan and Gabe are playing a game that uses a standard 6­sided numbered die and a 10­sided lettered die
labeled A through J.
In the space below, create a table, organized list, or tree diagram to determine all possible outcomes.

65) Using the model you have drawn, what is the probability of rolling one of the first six letters of the
alphabet and a number greater than 4?
Answer: __________
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